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[ 1] (15 %)

(1) If the nonhomogeneous linear ODEis »' + p(x)y = r(x), please prove its
solution to be

y(x) = eh[jehr dx+c], h= jp(x)dx
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(2) To solve Xy’ +2y =

(KA 2] (a5 %)
Find a general solution by the method of undetermined coefficients.
y'l =y ty, +5cost
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(XA 3] (15 %)

Use the Laplace transform to solve

p"-2t'-2y=0, y(0)=0, y'(0)=4

(XA 4] (15 %)
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(1)Find the Fourier series of the function fx)
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(2) What value is the sum of infinite series: ] - 5 + g — 7 +

[ 6] (15 %)
Please evaluate flux integral JIF'ﬁdA when F :[2x2, 4y, 0]and S is the
hy

portion of the plane X+ ¥ +2z =1 in the first octant(x =20, y =0, z20).
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(X2 7] (10 %)

) i1sinz
To solve the integral Cﬁ

c27— 7 dz by Cauchy’s integral formula, where C is a
T

simple closed contour enclosing 2o = 5



